
Ambidextrous Side-Mount Quiver Bracket INSTALLATION INSTRUCTIONS

1. 	The Ambidextrous Side-Mount Quiver Bracket Kit contains the 
	 following parts (photo 1):

	 Side-Mount Quiver Bracket (1)
	 Phillips pan-head machine screws (2)

2. 	The standard TenPoint HX quiver package contains the following 
	 mounting parts (photo 2) (if the quiver & parts are currently installed 	
	 on your crossbow, remove only the quiver, quick disconnect (female) 
	 attachment, and the two Phillips pan-head screws then skip to step 5):

	 •	Quick disconnect (female) attachment with lever (1)
	 •	Phillips pan-head machine screws (2) 
	 •	Quiver mounting bracket for TenPoint models (1) 
	 •	7/16-inch Nylock Nuts & 3/4-inch setscrews (pre-assembled at the 
		  factory) (2) 					   
	 •	HX Instant Detach Quiver with quick disconnect (male) attachment (1)

	 •	Quiver mounting bracket for 6 Point models (1) 
	 •	5/8-inch socket-head cap screw (1) 
	 •	7/8-inch socket-head cap screw (1) 		  	

	 These parts in italics are for use on 6 Point Series crossbows only. 
	 Call Customer Service at 330-628-9245 if additional information 
	 is needed.

3. 	If your quiver mount is not already installed, completely remove the 
	 two 1/4-inch setscrews holding the foot stirrup in place (n/a for models 
	 with an integrated foot stirrup) (photo 3).

4. 	Place the quiver’s metal bracket assembly over the two holes 		
	 you just removed the setscrews from.

	 The mounting bracket holes should face forward toward the foot stirrup 	
	 (see photo 4 for orientation).

	 First, insert and tighten the two 3/4-inch setscrews (with Nylock nuts) 	
	 into the same holes you removed the original setscrews from.

	 Then, tighten the two Nylock nuts until the quiver mounting bracket is 	
	 secure. Use a 7/16-inch open-ended wrench to tighten. 

	N ote: Do no over-tighten.

5. 	Choose which side you want the quiver located and attach the side-
	 mount quiver bracket to the quiver mounting bracket assembly 
	 accordingly (the flanges on the side-mount bracket will be facing down 	
	 from the bottom of the crossbow). Insert the two Phillips pan-head 	
	 screws, through the bottom of the side-mount bracket, into the quiver 	
	 mounting bracket assembly (photo 5).

6. 	Attach the female lever-lock attachment to the opposite end flange 
	 with two Phillips pan-head screws (photo 6).

7. 	Insert the HX Instant Detach Quiver with male attachment into the quick 	
	 disconnect (female) attachment with lever, and lock into place (photo 7).

1

5

3

7

2

6

4


